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SFHT (A) : | 1977 H, A1 U1l hl FGRR 4 A o151, I8 & e d
Teh S AR ol e foha |
HRIT (R) : AR Rl Sfeq el TR g Sifvd STUTdehIal & SRR <hl
St o fore s fopam o |
(a) AMMHAT (A) 3T SR (R) AT Tl & W SR (R), AR (A) I
& SITEAT Hdl & |
(b)  SATTHA (A) 3T RO (R) THI T& &, T RV (R), AT (A) H
& AT FgT Rt g |
(c)  3MMhYH (A) HEI &, Tg SR (R) Tad 7 |
d) RpET (A) TEd 8, TG RV (R) T 2 |
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General Instructions :
Read the following instructions very carefully and strictly follow them :

(1)
(i)
(ii1)
(iv)
(v)

(vi)
(vit)

(viii)

(ix)

This question paper contains 30 questions. All questions are compulsory.

This question paper is divided into five sections — Section A, B, C, D and E.

In Section A - Questions no. 1 to 12 are Multiple Choice (MCQ) type
questions, carrying 1 mark each.

In Section B — Questions no. 13 to 18 are Short Answer (SA) type questions,
carrying 2 marks each. Answers to these questions should not exceed 50 words
each.

In Section C - Questions no. 19 to 23 are Long Answer (LA) type questions,
carrying 4 marks each. Answers to these questions should not exceed 100 words
each.

In Section D — Questions no. 24 to 26 are Passage, Cartoon and Map-based
questions.

In Section E — Questions no. 27 to 30 are Long Answer (LA) type questions,
carrying 6 marks each. Answers to these questions should not exceed 170 words
each.

There is no overall choice in the question paper. However, an internal choice
has been provided in few questions. Only one of the choices in such questions
has to be attempted.

In addition to this, separate instructions are given with each section and
question, wherever necessary.

SECTION A

Questions no. 1 to 12 are Multiple Choice (MCQ) type questions, carrying
1 mark each. 12x1=12

For Question number 1, two statements are given — one labelled as Assertion (A)
and the other labelled as Reason (R). Read these statements carefully and choose the
correct option as the answer from the options (a), (b), (c) and (d) given below.

1.

59/1/3

Assertion (A) : In May 1977, the Janata Party government appointed a
Commission of Inquiry headed by Justice J.C. Shah.

Reason (R): The Commission was appointed to inquire into the
reasons for declaring Emergency, by the Indira Gandhi
Government.

(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of the Assertion (A).

(b) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of the Assertion (A).

(c) Assertion (A) is true, but Reason (R) is false.
(d)  Assertion (A) is false, but Reason (R) is true.
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ffciiad ® | Tohd T9H Wl 4 T99W WRA § 1ol T hi IESTTT i 2
(@)  sfeu e

(b)  TSfla wieh

(c) TR a8

(d) 35 PUR T

fATTRIT Sl SHICTHHATIHAR ST hITIT

(i)  Uiferea 3 YR H FHarrelt gEifer 99 |

(i) NG IFogeetl JTHL-HTHR I TH-ATTH ST |

(iii)  YoITE THEd W ATET 3T Tsfa el 3 geaer e o |
(iv) TR T <t e off |

agl faehed T |

(a) (1), (1), (iii), (iv) (b)  (@v), (3), (ii), (ii1)

(c)  (@v), (1), (1), (iii) (d @G, (1), Gv), (ii1)

1974 T TegeaTdt I BT Bl e fohae fepamm o 2

(a)  STITRTST A0 (b) Sl BAIEE

(c) T HAIE Sl (d RS a8

I QU A o T gl foehed T

YR TR 3 Jaayid IS & fifq & w9 T AR |
(a) TR fasm (b) Tufsa steleaeen

(c) EHNETRg (d) TR

fefctfaa faehedl & & YA o YR o TSl aTe 998 I
(a) 3FHH, AU, SHHTE

(b)  ®iTg, Fgu, ArTeivg

(c) SIS, dlllléus, ITEUS

(d) TR, gERse, iRy
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2. Who among the following was the first Prime Minster to start economic
reforms in India ?
(a)  Indira Gandhi
(b)  Rajiv Gandhi
(c) Manmohan Singh
(d)  Inder Kumar Gujral

3. Arrange the following in the chronological order :
(1) Pakistan sent tribal infiltrators to Kashmir.
(ii))  Sheikh Abdullah became Prime Minister of Jammu and Kashmir.
(iii) The Punjab Accord was signed by Longowal and Rajiv Gandhi.

(iv) Jammu and Kashmir was a Princely State.

Choose the correct option.

(a) (), (1), (iii), (iv) (b)  Gv), (), (1), (iii)
(o Gv), (i), (D, (iii) (d) (i), (1), (iv), (iii)

4. Who gave a call for a nationwide Railway Strike in 1974 ?

(a) Jayaprakash Narayan (b)  George Fernandes
(c) Ram Manohar Lohia (d)  Morarji Desai
5. Choose the correct option to complete the sentence :

Five Year Plans were adopted by the Government of India as a policy of

(a) planned development (b) mixed economy

(¢) socialism (d) industrialisation

6. From the following options, choose the set of States that belong to
North-East India only.

(a)  Assam, Manipur, Chhattisgarh

(b)  Manipur, Tripura, Nagaland

(c) Jharkhand, Nagaland, Uttarakhand
(d) Manipur, Maharashtra, Mizoram
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7. fm=afafaa & & -1 e Ay &1 g HRT 7 ?
(a)  GIH USCHH T T
(b) S TeNfireh o foemra
(c) Tava <& & T
(d NG 3R =T A AdTaEen w1 A

8. Ti=fciflgd # ¥ +19-9 HYF T o 91 | Tl § ?
G) gt ) faeard Afvges ueifa = 3 @ |
(i) AR W T G 1992 ¥ TSl § smatad gat o |
(iii) EYH TSCHT J TGO HRIHAT T HAOH GIh Ts¢ THATIHR A=

=l iy fean & |
(iv) gt FFHEH T STRSH I 5 gRT Tohall T o |
gl faesheq gHT |
(a) (1), (id), (iv) (b) (@), (i), (v)
(e (1), (D), (i) (d) (), (iid), (iv)

o (el e

9. fTrafflga § @ *-a1 th Afvas qran & fow wau 757 2 2
(a) T AT (Sfeaek aMalg) (b)) TS SAAHRATG

(c) | (@  ¥edl $hHd

10. frAfafea o @ -t geon =i TuNt i Tk T HME Hdl 8 ?
(a) I TS HHATIIHR IR

(b) I TS Guam g,

(c) &
(d) TR RS
11. G fasheq It a1e qU HIfT ¢
e f&m s |
(a)  SHIkdh STara o (b)  ETRdh JTIeH o1
(c) HMINh AT o1 (d) e AT o
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7. Which one of the following is the main cause of Globalisation ?

(a)  The formation of United Nations

(b)  The development of new technology

(¢)  The establishment of the World Bank

(d)  The rise of economy in India and China
8. Which of the following statements about environment are correct ?

(1) Environmental concerns are part of the global politics.
(11) A conference on environment was held in Rio-de-Janeiro in 1992.

(iii) The UN has assigned the environmental programmes to UN
Human Rights Commission.

(iv) The Earth Summit was organised by the United Nations.
Choose the correct option.
(@) (), (i), (iv) (b) (), (1), (iv)
(c) (1), (1), (iid) (d) @G, (i11), (iv)
9. Which one of the following is not a threat to global security ?
(a)  Global warming (b) International terrorism

(c) Epidemics (d)  Rising prices

10. Which one of the following organisations works to prevent international
conflicts ?

(a)  United Nations Human Rights Commission
(b)  United Nations Security Council
(c) ASEAN

(d) Amnesty International

11. Choose the correct option to complete the sentence :

Arab Spring was a

(a) Political movement (b) Cultural movement
(c) Social movement (d) Environmental movement
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& faehed IRt aTe QU HIfT

ECIEGRICIEE |

(a) Hifawd g9 6l FEYHE 91 - AgEte o

(b) &9 % ITIEEI G o TEATIH o

(c)  Ofvesl U <0 o Teh AT o

(d) @ifoea @9 § gari 1 ol e arct T A1 o

Qs @

Y H ugell fiefi-Seft awr (Tedyd & weRr) fha av § st R

CEI 1+1=2
e A i Tl g1 fawiian i 39mR HifT | 2x1=2
&I o foU U U @l % 9 H ‘SATdeharg’ il A i | 2
1980 % T H U9e H 73 feo % T ITRerRl fhdl @ sRu sl IR

T | 2x1=2
fohegl gl 3SRVl <hl TERIAT & TIh USCHH ohl <k i gRN3T | 2x1=2
‘St el 6t fhegl a1 Hequl faRISarsti sl I9PR HIT | 2x1=2

Wi

Tt g o foru sfen el g e U foregl IR hedl sl IR hife | 4x1=4
9ok G o TSR T STelehtul o gU fohegl g1 Jwral ol fawarow Hifsig | 2x2=4

GFE® (UNICEF) 1 g &9 fiIfgu qen 38k % @l i fafau | 1+3=4
WA 3T IATCY o S T8I o foheal ol &3 ohl TS hITT | 2x2=4
Tehicieh HETEAT o T & Hhis &l U ST | 2x2=4
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Choose the correct option to complete the sentence :

Mikhail Gorbachev was

(a)  General Secretary of the Communist Party of USSR
(b)  the founder of the Communist Party of Russia
(c) a leader of Western European countries

(d)  aleader against reforms in the USSR

SECTION B
In which year was the first coalition government formed in India and
why ? 1+1=2
Highlight any two recommendations of the Mandal Commission. 2x1=2
Explain ‘terrorism’ as a new threat to security. 2

Highlight any two reasons responsible for the violence in Punjab during
1980s. 2x1=2

Show with the help of any two examples, the strength of the United
Nations. 2x1=2

Highlight any two important features of the ‘ASEAN way’. 2x1=2

SECTION C
Highlight any four steps taken by Indira Gandhi to remove poverty. 4x1=4
Analyse any two effects of globalisation on the markets of your city. 2x2=4
Write the full form of 'UNICEF’ and state any two functions of it. 1+3=4

Explain any two areas of cooperation between India and
Bangladesh. 2x2=4

Suggest any two measures to conserve the natural resources. 2x2=4
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frefetfaa STaau &1 eayde dfeu o fi= fou 7o uodi & s e | 4xi1=4

“H % WY g Yg A WRA * AdISTl hl GEIR &F hHl Sfareid feafd % ufd
gad fohaT | STOT-9eTT Ud 37— 3T(dehibid Y o AMdITh, I8 & YA 5

TneT T STGSAT R TSHITceh Tehdl oh foTT Tt Jqad oL @1 o |7

() TfaRed § & SE-91 759, AR &1 T5T 737 3 ?

(a)  ITUTEA TG (b) IAETE
(c) T @ B
(i) F=faied § ¥ SE-A1 U9, YRA-<H g & HRU g8 e Jurfad
73T ?
(a) M (b)  HNTAUE
(c)  ITRUTEA WG @ faform
(iii) FHfIRgd # & SHH-E1 TS, WRA-SH g & gL a1¢ qarR § Tied
forat T o ?
(a) ANTAUE (b)  3THH
()  THforern (d) = TS

(iv) H-HT TeHITde &, YR g o qid 91 Adieh Hawg aH
SHIROT forerfed g3t 2

(a) ¥Fad 9

(b)  IIE T

(©  HegtEe et o 3fea
d E"
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SECTION D

24. Read the following passage carefully and answer the questions that
follow : 4x1=4

“The war with China alerted the Indian leadership to the volatile
situation in the North-East region. Apart from being isolated and
extremely under-developed, this region also presented India with the

challenge of national integration and political unity.”

1) Which one of the following States is not a North-Eastern State ?
(a)  Arunachal Pradesh (b) Uttarakhand

(c) Meghalaya (d) Tripura

(i)  Which one of the following States was affected the most due to

Sino-Indian conflict ?
(a)  Assam (b) Nagaland
(¢) Arunachal Pradesh (d) Sikkim

(iii) Which one of the following States was created in the North-East
just after the end of Indo-China War ?

(a) Nagaland (b) Assam
(c) Sikkim (d) Arunachal Pradesh

(iv)  Which political party got split just after the Indo-China War due to

internal differences ?

(a) Swatantra Party

(b)  Congress Party

(c) Communist Party of India

(d)  Jana Sangh

59/1/3 Page 11 of 23 P.T.O.
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25. WRA % U T oI @AM (T8 18 W) H IR TSJi/h5-Smad
gl w @), @), © aM D & gl 3ifeha foham T 8 | i & 18 Il +
MR W 37 TsHI/h5-3Md &l hl TgaH hifoT 3T I IT-JIEdepT | b
el AT, T <hl TS SHhR] shl ShH-TEAT a1 HEres | fean man gefa 318w,
f= § g arfereRt < ¥4 # faRav 4x1=4

TN Y T A | AW o e

. . TSI &1 91
61 HH-IEA TR HeYd 38R

1)

(i1)

(iii)

(iv)

1) 98 T¥ o8 dsd T & Aege, ol d. Hed & greey o |

(i) o8 TS & 95 IS U1l A At gl qehr S8 |

(i) 98 hrg-STd & fgeht a7 2019 ¥ foram ot o |

(iv) o8 UST &l ¥ glag g S UsHIfdeh el 1 367 g |
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In the given political outline map of India (on page 15), four
States/Union Territories have been marked as @), B), © and O .
Identify these States/Union Territories on the basis of the information
given below and write their correct names in your answer-book along
with the respective serial number of the information used and the

concerned alphabets given in the map as per the following format :

Serial number of the | Concerned alphabet Name of the
information used given in the map State

(1)

(i1)

(iii)

(iv)

(1) The State to which the Chairman of the Mandal Commission,
B.P. Mandal, belonged.

(ii) The State where Bahujan Samaj Party formed its first

government.

(iii) The Union Territory which was constituted in 2019.

(iv) The State from which the political party Dravida Munnetra

Kazhagam originated.
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26.
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g:
(25.1)
(25.2)
(25.3)

(25.4)

IS G UTEl % FEAT9eh a1 sl AW fafey |

WRA o T8el I-RAE Jam Wt B 9 2

TS TN o qeded, ot.ui. dsdd, WHd & fhyg TS 9 Hefed o ?
2019 | TorH Frg-TTTHT & 1 T34 foRam T o1 2

Frar fou U A 1 stem Hifsre st fmfafea gei % s G

(1)

2Rff 3T 93T 9T -8 i1 <kl <30 @I & ?

(a)
(b)
(c)
(d)

o

N < ~ (@ o
(AR ITH HTH dlHA gciH

o

(§ ~ o N
(AL ZITTH HH dHA Ul

o

N C - o ¢
[AGRIMH ZIMH A% dlH g%

o

¢ ~ o (o
[ AL ZIRTTH HATS dHA gcdH
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The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 25 : 4x1=4
(25.1) Name the founder leader of the Bahujan Samaj Party.
(25.2) Who was the first Non-Congress Prime Minister of India ?
(25.3) B.P. Mandal, the chairman of Mandal Commission belonged to
which State of India ?
(25.4) Which Union Territory was constituted in 2019 ?
Study the cartoon given below and answer the questions that follow :  4x1=4
I I
(1) The tiger sitting on the right-hand side represents which
organisation ?
(a)  Liberation Tigers of Tamil Eelam
(b)  Liberal Tigers of Tamil Estate
(c) Liberation Tigers of Tamil East
(d)  Liberal Tigers of Tamil Eelam
Page 17 of 23 P.T.O.
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(i) 1983 % &g it U I wu faiRea o & fopm W smaia o 2
(a) GTHR g UsHIfas Tifda & g dgwma
(b) HHR GRI & TSR o < WeuTd
(c) HTHR g al &nll  off AW
(d) TR G gl o o= YeuE
(iii)  oficiet § FoN o 9R H F=Afdfed § § SH-81 %99 7 8 ?
(a) WA 36 THEN ¥ T Tl AN RIS FEqerd T foha |
(b) YA 4 TIH USCHT H THEA §A i bl hal |
(¢) 9Ra A ficiehT & T TH FHd W geaer fobu iR auen &
THIYH § WA g3 |
(d) EEY % SH, R 3 ST & Y A9 ToHdsh qey arg iy |

(iv) SIS 9T T3 <l & ?
(a) it il TR WER fotidh gHi el o o9 Fqe sHH | a%d
sl

(b) QHI I ThR h foeg o |
(¢) |LHR A gHI TSR o |y A9 SR foham |
(d) —RER fqUeh A1 el % sfte HqeM ST 98d hicd o |

qie:  [AElEgd 397 Fac GRS qhemdai & 170 397 G126 % T |

g: 4x1=4
(26.1) #ficten | Tu % &g o |
(a) @& wHGE
(b) 1 &
(¢ < guf
d) o feemamst
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(ii))  The conflict in Sri Lanka from 1983 onwards was based on which
of the following ?
(a)  Discrimination by the government between political parties

(b)  Discrimination by the government between two
communities

(c) Discrimination by the government between two regions

(d)  Discrimination by the government between two religions

(iii)) Which one of the following statements about Sri Lankan crisis is
true ?

(a) India did not interfere in the crisis and kept away from the
problem.

(b)  India asked the United Nations to resolve the problem.

(c) India signed an Accord with Sri Lanka and got involved in
the solution to the problem.

(d) India snapped its diplomatic relations with Sri Lanka
during the crisis.

(iv) What message does the cartoon convey ?

(a)  Sri Lankan government managed to balance the two rival
groups.

(b)  Both the groups were against the government.
(c) The government treated both the communities equally.

(d) It was very difficult to maintain balance between the two
rival groups.

Note: The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 26 : 4dx1=4

(26.1) In Sri Lanka, there was a conflict between
(a)  two communities

(b)  two regions

(c) two religions

(d)  two ideologies
59/1/3 Page 19 of 23 P.T.O.
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(26.3)

(26.4)

27.

28.
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i =]

1989 §, WG 3 sficteht § 39t o, f=fifgs 4 @ fovm s @m0 &
JF=ard WSt ?

(a) W 3 &qg

(b) WA IMeq TAT

() WM =i gd

(d) afEdr S IR B

SficTehT <1 BT o Toeg o1 aTel afial @ o TYg 1 AW fafay |
(a) YR afbs

by fog (w@dds.)
(c) dffcd B SHIShH!
(d) aHA IS e

REPLICHCICE (AP EI | |
(a) oI glg R Torehrd Ted o
(b)  ItferaEen ¥ fiwrEe gof &t

(c) SHEEAT U gig Tl ohl

(d) =IYR ¥ firgae e &

Qs &
TIAAAT o 91G U S a6l H AR TSI | Hid 91 & T4
fopeal e sh1eun <Rt forgetwor hifg | 3x2=6
AYAT
1975 U SAUTdehIdd IS i o feheal i shron o1 fageiwor hifsie | 9x2=6
YA H Tl o S1¢ TSl b TS ohl HfshaT 1 Tohrgil M farrSarati
! IR hHIT | 3x2=6
HAAAT
1947 H g UG % foueH & fohdl d9 yq@ qiomal @l 3SR
$||\3Q | 3Ix2=6
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(26.2)

(26.3

(26.4)

(a)

(b)

(a)

(b)
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In 1989, India sent troops to Sri Lanka, named as :
(a) Indian Peace Groups

(b)  Indian Peace Keeping Force

(c) Indian Peace Workers

(d) Indian Troops for Tamils

) Name the group of Tamils who fought against the army of
Sri Lanka.
(a) Indian Tamils
(b) LTTE
(c) Tamils for Democracy
(d) Tamil United Front

In spite of conflict, Sri Lanka has registered
(a)  risein its economy and development
(b)  fall in its economy

(c) rise in the population

(d) fall in its trade

SECTION E

Analyse any three reasons for the dominance of the Congress Party
in Indian politics during the initial twenty years after
independence. 3Ix2=6

OR

Analyse any three reasons for the declaration of Emergency in
1975. 3x2=6

Highlight any three features of the process of ‘Reorganisation of
States’ in India after Independence. 3x2=6

OR

Highlight any three major consequences of the Partition of India in
1947. 3x2=6
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29.

30.

59/1/3

[ Clje{ O
Hed
=

Teh T Tk g o €9 H SITIH sl qhd I HeATh hIfT | 6

YT

NART & AT TUY qem AYITEAT W Ik YU kT fIvANor
SIS | 3+3=6

Aifsd 99 & fageq & fou saerh fadl a9 o &1 favawo
ST | 3x2=6

AT

‘31'{3[ ']%\9:"[, a; TE 5\|:| % i;h,_é\[ a c|q|{U|\i qadr g9 3‘|id:lc'l"| % i‘\’h"é\l. ?ﬁ
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29.

30.

59/1/3

(a)

(b)

(a)

(b)

vy mr

E
Evaluate the strength of Japan as a new centre of power. 6

OR

Analyse the ethnic conflict of Sri Lanka and its impact on the

economy. 3+3=6

Analyse any three reasons responsible for the disintegration of the
Soviet Union. 3Ix2=6

OR
Analyse any two reasons for the beginning of ‘Arab Spring’ and any

. 1
two outcomes of this movement. 4x1 3 =6
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